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Note : Before answering the questmns, read carefully the instructions given on the
OMR sheet. |

D 1 (D OH BT [FTamed 5006, OMR emren HESHS® adeadd drdben s S50,

SECTION — A : MATHEMATICS (%638 =~59%0)

1 The value of log, eve is
log, eve Dewd Doe?

SOR: @ = G > @

2  Cardinal number of the set 4={-2,-1,0,1,2} is
A={-2,-1,0,1,2} &3 xN88 5705 Howg

()5 | (2) 4 (3) -2 (4) 2
3 The zeroes of the quadratic polynomial x% +24x+119 are

(1) one positive and one negative (2) both positive

(3) both negative (4) none of the above

X2 +24x+119 &8 & dobd drargen
(1) exes o8 80 Ba a:8ed 20eeee) o (2) Bodr ST &) So

(3) Bodhr exvers) 8o 4 WP
| NSOV S
SPACE FOR ROUGH WORK / 2& #08 Séranosadsd o
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What is the degree of the polynomial 7u6‘_§.u4l +6u°—8 7

3
Tu® ——72-114 +6u’ -8 R 2TVHE OO, does?

(1) 7 @ “% (3) 6 (4) -8

S H.CF of 8 9 and 25 is
8, 9 HBaw 25 © K50,

(1) 0 (2) 1 (3) 2 (4) 3
1
6 "J—i 1S
(1‘) Natural number (2) Rational number
(3) Irrational number (4) An Integer
1 .
:E BVOID

(1) Ssoes Qdomg

(2) essdon vowg
(3) s8eax; Nowg

(4) g Yomg
{4 [f 2* =82 then x=?
2% =82 oand x=? |
(1) 2 (2) 4 3) 6 _ (4) &
8 A={C,0V.1,D,19,2020}, B={¢,0,7,1,D,19,2021} then B— A=
A={C,0,v,1,D,19,2020}, B={C,0,V,I,D,19,2021} eons B—A="
(1) {2020} (2> {2021}
(3) 12020, 2021} (4) {C,0,v,1,D,19,2020,2021}

9 Find the value of log,,0.01 -

log, 0.01 dend Dos? _
(1) 1 (2) 2 (3) 3 - @4

SPACE FOR ROUGH WORK / dé 08 Seronoiads deod
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4 1f the system of equations 3x—2y—7=0 and kx+2y+11=0 has unique solution then

3x-2y—7=0 ©bam kr+2y+11=0 Bd8Sere a8 JBE FES 308
(1) k=3 (2) k#-3 B3 k=3 4) k=-3

“15 1f 73‘.'—5}):'2 and 3x+y-:.45 thel’l x:?

Tx=5y=2 %o 3x+ y=4 vond, x deud ?
(1) 3 2y -3 (3) 1 (4) 2

26  The distance between the points (0, 0) and (5, 12) is
(0. 0) ot (5, 12) Bociye wesg dndo .
(H 1 2) 12 (3) 13 (4) 14

27 1f the slope of the line through (x, 5) and (5, 2) is 3, then the value of x is

(x, 5) B0t (5, 2) © thome 9% B en 3 ®wows, x Densd

(1) 3 (2) 4 3) 5 4) 6

28 If AMABC~APQR, £4=32°, /R=65° then £B<="

AABC ~APQR; £AS32°, /R=65° wons, LB=9

then (1) 93° (Z) 83° (3) 739 (4) 63°

<9 The angle in the minor segment is,

(1) obtuse (2 acute (3) 90° (4) None of :thes
VONSEDOHO S o & mo. e
1 - .
(M) woe (2) woy (3) oo - @) 58 s
SPACE FOR ROUGH WORK Taaa_:.:g)& Séoe

QO8N ;mm
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(1) 100° @) 120° (3) 140° (4) 150°

In the figure OB=13cm. OP L AB. OP=12cm then AB=
20 o8 OB=13 20.2., OP L AB, OP =12 250.5). @ond, AB=

31

(1) 100 cm (o) (2) 50 cm (0..)  (3) 75 cm (0.2.) (4 10 cm (?0.3v.)

32 In the A4ABC: D. E and F are the mid points of the sides BC. C4 and AB.
Then area of ADEF : area of AABC =

AABC & D, E 50805 F en 363 BC, CA %605 AB o éoc;}’g&)oﬁa@@é,
ADEF Jego 1 A4ABC JBOL0 =

(1) 1:4 (2) 4:1 G 143 4) 3:4

e e—

SPACE FOR ROUGH WORK / D B8 Séranotads Hedn
c
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and C
; ; e - _9
» In the given figure £BAC=90" AD L BC: %3805 CD:l6cm @OV, AC
VYD Do wod LBAC =90°, AD L BC - pp= ol
A
B
9 D 16 ¢
(1) 10 cm (2) 15 em (3) 20 cm (4) 25 cm

The base of two similar triangles are 24 cm and 18 cm. If one side of the first triangle
is 8 cm then corresponding side of other triangle is

(1) & cm (2) 6 cm (3) 4 cm (4) 2 cm

Both BErD (Bebere arime FdHes 24 o, Dok 18 o.fr.en. el |Bzbe gheo 8 0.,
®OWD, BOBD LWErD |Bzhes ghaso 0.,

(1) '8 | (2) 6 3) 4 (4) 2

35 If a parallelogram is cyclic, then it is a

(1) rectangle (2) square (3) quadrilateral (4) rhombus
DAr0SY I Y ﬁ@oﬁ@a’n, od 2.8

(1) &g S (2) S8 (3) St yesino (4) oroa®
36 The perimeter of a rhombus is 52 cm, if its one diagonal is 24 cm then the length of

its other diagonal is

(1) 5 cm (2) 7 cm (3) 9 cm (4) 10 cm

28 T°0R GBw¥). i'-SJﬁ;‘Dg"EJé 52 20.2. 800 ord 2.8 880 Ay 24 0.0, ®oND o Boskd gdo

PED) dos?

(1) 5 20.2D. ~(2) 7 0.0, (3) 9 20.av. (4) 10 20.20.

SPACE FOR ROUGH WORK / D& 308 Stronobadd ROWO T
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. o <lant height is
. Then 115

- : b e Sa its height 18 10 m. L 4) 16.2 m

I'he radius of a conc is 7 m and its heig ( '

4.5m

(1 122 m (2} 135 m (3) | \ gouh Hesaren
&8 doauy) QLS wgﬁ*gm 7 . H0a dewd) I L b; (4) 16.2 &b,
(1) 122 5. (2) 13.5 &, (3) 145 %
If tan®@=cot 0 then the value of seeB=
tan 0 =cot 0 e®avd, sech Dewd w

4) |

| V3 (

M 7 (2) — (3) V2

: tact s

_ ¢ the point of con
The angle at tangent to a circle and the radius drawn al P
D)6)Dohy S Hyd 9)6)0p& g g0 Sox Seaw (4) 30°
(1) 60° (2) 90° (3) 45°
. ii of their bases is ).
The ratio of volumes of two cones is 4:5 and the “atio of the radi 2
then the ratio of their vertical height is
’ : 83 Dend) debrer A

Sodv doguPe DHBOErwo 4.5 oo @ LrargrTTe AN 23 woﬂél'a‘ o Q) JHeo %él
(1) 45 () 9:5 (3) 3:5 (4) 2:

Three cubes of sides 6 cm. & cm and 1 ¢cm are melted to form a new cube then the

length of the edge of the new cube'is
(I) 9 cm (2) 8 ¢cm (3) 7 cm
6 20.2., 8 20.. ®Bas | 0.0, e gherenr Ko HDHTOD E0A0W 2.8 VG JWIVO Sty .

DANT @ o Sy zheo Fed Jod?

(4) 6 cm

(1) 9 0.5, (2) 8 0.5 (3) 7 20.5. (4) 6 20..
If A+8=90° and cot B=§ then the value of tan A=
. 3
A+ B=90" HHdatk cnlB=—4— ®OLY, tan 4 Jed
3 4
Ly N Y (2) - ! 1
4 ) 3 (3) 3 (4) z

SPACE FOR ROUGH WORK
[ Qe 08 u"ﬁhﬂﬁ
= W33 Jerdn
-
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3 In the figure. AP=12cm, PB=16cm et 3
. =23,

portion is then the perimeter of the shaded

(1) 52 em (0.8 3)
€M (o.v)  (2) 58 cm (20.5.) (‘3}): 36 cm (0..) (4) 62 cm (0.5.)

44 If the dj
If the diameter of a sphere is 'd' then its volume is
&8 8o @ws) g0 'd' @ond, ord I3BBErHo

] 5 . :
1) —nd3 . 1 1
(1) 6 (2) 3n:d (3) ﬂnd?' (4) 5na‘3

45 A reservoir is in the shape of a frustum of ajr@ght circular cone. It is & m across at the
top and 4 m cross at the bottom. It is 6 mi.deep then its capacity is

(1) 704 m3 (2) 174 m3 (3)' 127 m3 (4) 170 m3

2,8 Besor o b BSs~§ Q& 20 ((BX) WstEos® Soh. ood 20 0 (80d argIrgren 8 .,
4 2. B S* 6 . @and, o M HOPHO Joi?

(1) 704 %3 (2) 174 53 (3) 127 &3 (4) 170 D3

46 A dice is thrown twice. Then the probabilify;lof that '5' will come up at least once.

2.8 S Todh e EYR, A0 28X T°d mm% '5" Sy vogridgd

11 25 y 2
0 & ) @) 3¢ ® 3¢

SPACE FOR ROUGH WORK / 2& 398 Seranoswdd Jedn
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If the mean of 6,7,x,.8,y,14 is 9 then x+y=__—
6, 7,.x,8, .14 o &% 9 ®OND, X+ Y= (4) 20
(1) 17 (2) 18 3) 19
From the figure, 9=
00 @Dﬁ. 0=
C
1003 m
P 0
o B
100 m (4) 750
(1) 45° (2) 60° (3) 307
are connected b ‘

The tops of two poles are of height 20 m uf 14}1{:‘11 the length of the }‘:N?r “-,u!
If the wire makes an angle 30° with the horizontal, t 4) 10 m Cis 5
(1) 11 m 2) 12 m (3) 13 m s

23
20 2. 8axo 14 &. S den ﬁaaodag,oe.wﬁ’w;“““’é $och. & S ° 66“5‘3&
%00 DY, & v By FEY

4) 10 Q.

(1) 11 &. (2) 12 . (3) 13 . *)
If three coins are tossed simultaneously, then the probability of getting at least
heads is
St e SEHIT H06 T, €% Both wrthives $3) B0rRgS

3

9] 2 1 2

@ > i B (3) 3 (4) 3

SPACE FOR ROUGH WORK / 2& $98 $eranoseds Heom
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1 lhe AM. of 30 students is 42. Among them, two students got 7¢ro marks. Then A.M.
of the remaining students is
30 od Dc:rbggxm 560 42, r0S° 2508 0" drdop en 7, ADS AP e DrHéD
L~
(1) 40 (2) 45 (3) 50 (4) 55

2 The median of 17.31.12.27.15.19.23 is

17.31.12,27.15.19.23 © 53.135&. WHS0

e —

(1) 19 (2) 20 (3) 21 (4) 22
53 Mode of 4.B.C.D......... Z Is
(1) 20 2) 21 | (3) 22 (4) No moae
AB.C.D. ... Z ® BuE) wrduFso
(1) 20 (2) 21 (3) 22 (4) erdogiso BOBE
54 The value of sin® or cos® never exceeds
(1) - - (2) 1 (3) 0 (4) None of these
sin 0 8o cosO © B Jewd DA% NCSPIRR- L~
(1) -1 (2) 1 (3) 0 (4) 6 s°&

S5 In the figure. the value of cosec 4 is

C

H06°, cosec A B0E) Jewd

12 13
M 5 @ 3 o 5 @)

SPACE FOR ROUGH WORK / 9& %98 8&ranosnds sedmn
Q
Y _ -
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ability that numbey ch
, prob ab! I Ogyg
56 If a two dlglt number 1S choosen at random then the P Sen

is a multiple of 3. 508
$50%7°0)
Bodose Kx::q:gé" 8 ) BKH08, ©d 3 BN mﬁa@a’s I
1 1 ] (4) '5'
() 5 (%) 3 G) g ,
57 P(I)‘FP(HHOt xﬂ) —
P(x)+P("x s5°R") = | (4) 2
(1) -1 (2) =2 (3) 1
5§ If cot®="2 then 259+5in0_
a cos9—sin O
cme=§’- —_— cosB+s'TnB=
a cosO—sin© / A
+
b—a b+a 3) E_:é (4) Z—b
1) 0 2 SUNPI

59 The angle of clevation of the top of a tower, whose height is 100 m, at a point wp,

distance from the base of the tower is 100 m 1s
100 Shests iy e 8 vogo rdo oD 100 e crdod® §8z Op B o BOBOD Fito by

HORe¥ 5"159___

(1) 30° (2) 60° (3) 90° - . (4) 45°
1—tan? 45°

60 The value of - 5

Y+tan~ 45 |

1—tan? 45° o

b Hans 450 G eos

(1) 0 @) —1 (3) 1 - 4) 2

POLYCET—ZOZ]—B ] www.eenaduprlargibha.net
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SECTION — B : PHYSICS (°8% #~i95w)

To find normal to a curved surface at a point. join that point and
(1) locus (F) (2) Pole (P)

(3) Centre of curvature (C) (4) Any point on principal axis

JSSer8 2.8 Doty H eowin, & HokPHw 1806 A DothHE Sedne 8 &0,
(1) =& (I) (2) &) Sosdm (P)
(3) H8e Bogaw (C) (4) Porargn D B DothY

When a set of parallel rays of light inclined at 15° to the principal axis, are incident
on a convex lens. thev

() Converge at focus (19)
(2) Diverge from focus (19)
(3) Converge to a point on focal plane
(4) Diverge from a point on focal plane

Pgod 159 S'mo Ty [Harrdod 5708 Hodn Hoarsed ShghnD HESDHHYPR), @)
(1) =9 5 So|bs)svHs~on

(2) D908 JSo|bH¥dodeadeon

(3) ~dan d00D e Hochy) 5 SodEysHHeErow

(4) daw d00D & Do) wod Jodsdoiederawn

Focal planc of a spherical mirror is

(1) Line joining pole (P) and focus (F) of the mirror
(2) Plane perpendicular to the principal axis at focus (F)
(3) Plane perpendicular at centre of curvature (C)

(4) Plane parallel to the principal axis.

Rrersed d8yman gy, Tdad deo wod

(1) as6y= ydo (P), o8 (F) o Sendy 3p
(2) d (F) 38 Deargr8 woworr 4d) dodw
(3) Hge Soo (C) & eoworr ad) e
(4) (Dorargrd8 ShrodSor™ d4od dedn

SPACE FOR ROUGH WORK / D¢ 508 Séranosadd RS
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64 Dgntist uses this mirror to examine teeth of patients- o
P
(1) Concave mirror 2) ConveX 1 o
? d
(3) Planc mirror (4) None of the

o8 By 8 Gorrem 188oBoces anaarno BEYP
(2) wowred S

(1) Herses S6yemm
(4) pB® T

(3) Soee cSCSJm:m

: - . , C mirl'[)l' 15
65 If object and image lic on the same side of a mirror th

(J/)/Cﬂncave (2) ConveX
(4) None€ of the above

(3) Plane

SR, (DBDoIY 566708 28 Byd 0B, & GE)PV

(1) Derses (2) $owr=°
(3) SHhde OF 1o 4

s the focal length, iny

: . 1me
66 When distance between object and screen is more than 4 t

L] - . 1 ‘?
many positions of the convex lens, image is sharp B, b
38 (f) 4 Teysod oy D dRQONE, S0k,

DRV, BO® WG Srso HogrseY S F°ergoSTT
o) Q“EPEJGS (B8Dodn DyRorT otwod?

4
(1) 1 @ 2 (3) 3 *) |

| is incident
67 If a light ray passing through centre of curvature (C) of a mirTor 15 On

mirror, the reflected ray's path is
(1) Through focus (F)

W Retraces the path

2.8 5708 860, (6 BdN By HEe oo (C) od Hosredyr
8620 A&y wrgo

(1) =& (F) coe

(3) &3 srgo rhoae FHEH (Haxredob

— — ___-—-——-———__-___-__—- .
SPACE FOR ROUGH WORK / 9& 08 Seranosedd poin

(2) Through centre of curvature (C)

(4) Through any point
38 YEID0 D HSTR DY D, So

(2) sEeSoo (C) thoa
(4) 2 B Do) Hoae

14
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If Magnification is equal to one, it MEANS
(1) Image is smaller than object

(2) Image is larger than object
(3) Image is of the same size as that of object

(4) Image is point size

Qa’)g;’oo 2,863 (1) @3, c:wégc

(1) 1H8Bodw, HRyy) E°) WD) 6

(2) [H&Oodw, HKY E7°) EO

(3) ®DoHw, HP) Bodr &8 HOIrN0S” Gar)aw
(4) (3Bodn HoM ErS” &0

An object is placed at a certain distance on the principal axis of a concave
[f the image distance (v) is 30 ¢m and radius of curvature (R) of the mirror

find the object distance (u).
(1) 10 cm (2) 15 em (3) 30 cm (4) 7.5 cm

.8 QYEPSE BOYRY (BT o E0l Brdos® .8 vl doswBS0. (HBBow drssv (V) 30 0.aD-
DBy BB ey HEee agrgan 20 0.0, wand dode, B drds (U) Joes?
(1) 10 R0.v. (2) 15 20.2. (3) 30 0.2 4) 7.5 2o..

Which part of our eye is responsible for image formation ?

(1) Cornea (2) Crystalline lens (3) Aqueous humor (4) Iris
DD Z0e35° &8 2o Hd 1880200 36;)&3&30&;?
(1) s8yosr (2) s®so (3) & ss (%0 (4) 005

Object distance (u), image distance (v), focal length (f) are all measured from

(1) focus (F) (2) optic centre (P)

(3) centre of curvature (C) (4) principal axis

5 drso (1) (H8Do &rdo (V) a:rﬂaFSQééo (f) ev &8 Do)y od Beward.
(1) = (F) (2) &8 Boiso (P)

(3) HEe oo (C) (4) |Dorargon

SPACE FOR ROUGH WORK / Q& %8 BeronoSs08S Do

15 P.T.O.
www.eenadupratibha.net [
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72 In our eye cones identily ) Colou!
(1) Intensity of light (;) SI'ﬂG”
(3) Taste
2D S0e35° Foaen BID HOIraw ? 2) % %
(1) s 08 &|dek 459
(3 & @ =
| h
| lengt
. ; jts focd
73  With the help of , eye-lens changczzl) Cornéd
(1) "Aqueous humor (4) pupil
(3» Ciliary muscle 0820087
" .
B TFaHod Kods Ler8o S5 aﬁaﬁgﬂéﬂ‘al A ’) S”GQ,OIP
(19.525@565 oS0 24) £y
(37 2Oa0d Sosoren th consta
f water %% nt,
_ rface O :
74 A.bird is flyi . [y towards the st the bird
) ying down vertically the bird s€€3

A fish in the water vertically below
(1) Further away than actual distance
(2) Closer than actual distance

(3) At actual distance

(4) In inclined position

OTHOS® B H§ NS dHdSe0 BET ©02)01T
$08, & BHH H8

(l)zjwm 30 SoB Grdor Ssedbeod
(2)"wen 0 K08 SHOT SO0

(3) e&de» gpmes’a oot fod

(4) srends® Eeairod

active index # and radius of curvaty,

_ " refl
75 Focal length of plano-convex lens of refr & SrrgosGE:

< g8 EeEdy O30
1 SESSS dmssn, R yer argrgin o SHde L0857

I 4) f=—
(1) f=R @ 1=3 (3) J=7R @7
[ —

SPACE FOR ROUGH WORK / 2& 28 Beran0otsdD ;:oe:)a'm -
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A convex lens form image of an object at infinity. Object is at

le (P)
() focus (F) 2) C=2f (3) infinity (4) PO

\O) y &S° &0 00
0 H0RrSS bosin [H3D0wed) w0l Erdod® NG ED0B. P B T

@

(1) =9 (F) 2) C=2f ((3) wdos erdo

medium
S from a M€

T ex M2
Formula used when a light ray enters a medium of refractive ind

1S
: I rvaturc R
of refractive index m; at curved surface with radius of cu

&°8
e HESO
R arproor™
5008 Bdmo 17 H8esdd hgo Ko axrdso Lod m 85 S0, [t %6
BAXrESoDBIYP R, o (808 Db EGE0 DOFBODR.
. ny — Hj
n'j__??]:i'?z-—ﬂl »> y—U ===
(1) v oou R - k_)) ¢
o | —ny
v _u __Ha—H Ca) _r*:_;__:_+_{?_1_=”2
(3) ny M R () v U R
28 4Q.8Q, R resistors are connected i1n series. Resultant resista
40 8Q. R 3gren [Re3S® Send axaron. wé(:ﬁ‘ém 270Q ®ond, R=7
. ? {: Q
(H 6Q (2) 4Q €3) 18K2 (4) 8
79 When how much current flows in the fuse. it melts ?
Jrger (Hom Jod LS DR ©b EHHE0?
(1)200 A (2) ZA _(é) 20 A (4) 2000 A
80 The alloy made of Cu, Mn, Ni is
(1) Magnesium (2) Magnet fd’j Manganin (4) Magma
Cu, Mn, Ni o8 o685 |#d & &ei
(1) hydao (2) &8)8 (3) oA . (4) Herey
) B SPACE FOR ROUGH WORK / 2& ©08 Seronowtadd ek
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Conductivity =

(1) Resistance™! (2) Current! (3) Potential™ (4) R‘-"ii'b!i'vityl
TRr88R0 <

(1) dcan™! () dgayyoaan! (3) oogass! (1) APy,

L.cast distance of distinct vVISIiOon is

(1) 25 m (2) 25 mm ¢) 25 em (4) 25 km
Q)R d.)%:éﬁa’)csycsm
(1) 25 . (2) 25 2.5 (3) 25 %0.2. (4) 25 8.2,

The resistance of human body varies between

(1) 100 Q to 50,000 O (2) 100 2 to 5.000 £2

(3) 1.000 Q to 5.00.000 O (4) 100 Q to 5.00.000 £2
FETODOT HrS 468 D s ) Jewide DS B0E0D?

(1) 100 Q@ %08 50.000 Q 6% (2) 100 Q 08 5.000 £2 SO
(3). 1,000 Q @08 5.00,000 Q 368 (4) 100 Q %08 5.00.000 &2 SO

Focal length of a lens is 25 c¢m. Its power is
2.8 S8 Teigossin 25 0.2, wan®, ol A idgin
(1) 5D (2) 6D (3) 4D (4) 0.04D

When a person is suffering from both Myopia and Hypermetropia, which should pe
used ?

(1) Bi-convex lens (2) Bi-concave lens
¢3) Bi-focal lens (4) Bi-focal mirror
BrRg YR8 AR, (e Bt e e 9588 ABMrAOTIOVD

(1) BgHogrss sgsn (2) BgDErs S S
(3) BgTeoss Stosdn (4) BgTrggoss S8 dN

SPACE FOR ROUGH WORK / & 08 $éranoseds gedw
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The current in a conductor is directly proportional to the potential difference between
1ts ends. This is called

(1) Faraday's law  (2) Kirchoff's law (3) Ohm’'s law (4) Newton's law
88 TSRS g YriEEn D v WEgio FBINS DOV it irs I B0l dotnod

HAD @ ANV ®oeE?

(1) 368 dapdtn  (2) 8675 dovomn  (3) & VDI (4) greui Dansyin

| e electric field ; X
When a copper wire is connected to a battery th tne field in the wire is

. - : more at negative :
(1) more at positive terminal (2) gauive termingl

(3) not uniform in the wire (4) uniform in the wire
08 ToR Bef ergeab8 $OEO P, BHST D¢ B

(1) &3 &ydo DS o (2) 208 G0 DG Iy 5
(3) BKS® BB Boches (4) BKS® 808 doenod,

Units for specific resistance

DB A8 (HvreIren

() Qm (2) Q/m 3) m/Q 4) Qkg
Forcg;n:ﬁfg;gth = which quantity ?
() Potential (2) Current (3) Resistance (4) Capacity
2000 X )

o = o) 2°RE o°37?
(1) >BY0S (2) Debgsypmsmn  (3) e (4) B8

A current through a conductor is 24, when there is a potential difference of 10
between 1ts ends. Its resistance 1s

2.8 TS0 VIS g 10V PBowS DesdmodyHych, 24 DS (BVT0B. trd B D 0H?

(1) 5Q 2) 020 3) 200 4) 250
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H9)
SECTION — C : CHEMISTRY (87009 #°5)

: - vcited state
atom. when electron jumps from ground stat€ to CX |
(2) cnergy

(4) depends O

91 In an
(Y no change In energy

(3) energy IS absorbed
streDd TS ArFan 0B BBRS Frans S0

(2) ,BE agﬁ@ﬁ)@

D) P SO

s €m itted
) atom

(1) #8&° &rdd) GOk

92 The orbital which is filled with electrons immediately allg 3P 1S -

3’ 8BS 08D SHTd JFTINYE JoB Wb )erd NO7?
(1) 4s (2) 3d (3) 4f (4) 4p

93 When n= 4. the total number of subshells in an orbit is

n=4 m ad P @ §8\808° B0B AEo GHEG orw HoRS
(1) | 2 4 () 2 i

: 7
Which of the following has larger wavelength in electromagnetic spectrum
¢2) UV rays
(4) Radiowaves

94
(1) Gamma rays

(3) X-rays
gAY 08 HEH0S® WHE SG0rBYEF0 EOADD AD?

(1) resoe 88een (2) oddedtirs 88mren

(3) X-8deen (4) BA&&Br sSorren

95 The quantum number which‘explains about the spacial orientation of orbitals 1S

ubaéﬁ@‘a @'5?5 &sﬁga"ga}*?&i O8O0 s° Q0&0 oG |
(1) n 2) ¢ (3) m, | (4) mg
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96 Thc correct set of

o four quantum number values for the valence clectron of sodium
Fdawo SOy mg& 5“”-’5,) Qv‘g‘“jméa 4o 4 S°R0E0 DOWLE DNV

(1) n=3, £=1 m=], s = “15 (2) n=3, £=0. m=0, s = +'£‘

(2] n=3, =0, m=1 S = +'%' (4) n=3, £=1, m=0, s= —%

97 The impuritieg Present in the ore is called as

1) Fl

(1) Flux ) Gangue (3) Slag (4) Mineral
FHYHE EH2D%ay, GR) DO D) eotrE)?

(1) @swo 2) rrok (3) Ssweo R

08 Which of the ft:)]l{imfing 1S used as a flux in the Sl'ne]ting of Haematite e

TEHE (D0 H0th (S8BT SHBrAEHDE D67

(1) 810, (2) CaSiO, (3) CaCO, (4) FeSiO;

99 Potassium and Calcium belongs to

(1) s-block elements (2) p-block elements
(3) d-block elements (4) f-block elements
FErano Hdo sdano dmresten o BN Bodn?

(1) s-zr§ srosen (2) p-zr§ droscen
(3) d-z§ roscen (4) f-2r8 Sorosten

100 Which of the following is an ore of Iron ?
(1) Bauxite (2) Haematite (3) Carnallite (4) Pyrolusite

&3 (806 7°E3S° D PP HO?
(1) 2r8)eS (2) DB 3) sey@s (4) PeogS
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101 In electrolytic refining of metals. the pure metal is taken as 4) Vessel
(1) Anode () Cathode (3) Electrolyte (4) .
ADGS Tes o g B B e Sro B diwotrd’? 4) >
(1] el (2) s&& (3) Qg9 =

102 The r Eaﬂti{)!“l that takes place in Thermite process 1S
(49 Reduction (2) Oxidation
(3) Neutralisation (4) None of the above
G0 H63S° 2oi $Sg '

(1) ZaHssemo (2) géaécﬁmﬂ
5
(3) éé.)%:édmu (4) 5H 5D

103 What does the gv § Kend . ; uation ?
ymbol 'A' represent in a chemical €q (4) Physical state

(1) Catalyst (2) Precipitate (3) Heating
GO0 Db 065 'A' R ¥t B3I L3 DNoO? o
(1) &éﬂ)gdéu (2) o580 (3) dBBoHGBO (4) ﬁﬂ@gﬁ'
104 The product formed when quick lime reacts with water is
e V)0 WBAKL K3 FBowd) S8eeS® DSy (Borredeo
b TR S0AD Farresy (4) CaCl,

(1) CaS0, (2) Ca(OH), (3) CaCOsy

105 Which one of the following is not a product in the electrolysis of aqueous NaC] ?

NaCl asolorsd g8 T (HBans® (8o wéss® D6 |Barresigo S°E7

(:-l) NaOH (2) O, (3) Cl, (4) H,
106 Which of the following has highest mass ?

(1) One molecule H,O (2) One gram H,O

(3) One ml H,O (4) One mole H,O

808 TE3S° ©&gBE (5HgTP R SOAGCRE?

(1) 2% @) H,O (2) a8 raw HyO

(3) a8 1OdE H,O (4) 2% ars H)O
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107 When the CQuation.: Na 4 |
Na' ? S V0~ ENNOH S, s Bl .
a4 110 NaOH +H, s balanced. what 1S the cocfficient
a -+ g, il NaOH +I
-I?. %55 2 = i Fr .
(1) 2 e 4 7)), Srego BB A Na TR R
' e S (4) 1
108 The chemicgyl react:mem _
(1) Oxidation :ﬂttl?n M Which heat is absorbed is called
X B .Eactmn (2) Exothermic reacti
(.}) --rndOtherlnlC reactj ‘ on
GO0 WEes® on (4) Reduction reaction
57 %0 (Brosadd, v $osm Hwd wotrd?
(1) o83y86m s
(3) & 8 (2) e PO LI L tﬁﬁg
o, ah W
Sl 208 (4) BaXE8es 88
109 Which of the following is not an inert gas element ?
B3 (SO8 o7¢3S5° astkaraniy Brerss so9A D&?
(1) He (2) Na of 18 o s
110 HO?M many s-block and p-block elements are there in the second period of the modern
periodic table ?
OIS GBS HILS*D Boss HBLES® Dy S-28 Wwoako P-grE Mareosen So?
(1) 2,8 2) 8.2 (3) 2, 6 4) 4, 8
111 Which of the following atomic numbers of elements have similar chemical properties ?
&3 (80O °e365° & HSSee "’mmgw He Drosrten 28 Sand oo pLay E0f doH?
(1) 7, 8,9 (2).9, 17, 35 (3) 3,10, 11 @) 10, 11, 12
112 In the modern periodic table group 2 (IIA) elements arc called as
(1) Alkali metals (2) Alkaline earth metals
(3) Halogens (4) Noble gases
e85 wBsd $6388° (10 2 (IIA) rostom D ©OoerS?
(1) 528 S°FFen (2) o6 )BE & dew
(3) HFS e (4) =6 TPaOR)eD
SPACE FOR ROUGH WORK / D& %98 Seronouads o
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The valency of Calcium is 4 4
s*Oao Qs Doadresse 3 (
(1) 1 (2) 2 o h this element belong
iC
¢ iod tO
Atomic number of an element is 17 then the Perlod o7
CO 5 booBE
&8 Dorer ¥ ﬁné&. 470 1) LT3 +)) a’)oqng 17 &nmé(% e 80 (4) 4
(D 1 (2) 2 W (3) 3
<
Which one of the following is strong acid 7
1 |80 T°¢36° DOV VDIV B? (4) NH4OH
(1) CH;COOH  (2) HCI (3) HyO
Which one of the following is an acidigyoxide ?
(808 T°S° uh w315 A6? (4) CO»
(1) MgO (2) Na,O (3) CaO
Metallic oxides are generally in-nature. ' 4) basic
(1) acidic (2) neutral (3) amphoteric (4)
& ¥8)8 ev Jgrdmor dearardy SOA dotrow.
(1) e (2) &&3 (3) BgdgardaHd (4) ¢

The nature of chemical used in antacidis

(J» Basic (2) Acidic - (3) Neutral (4) All the above
QXrotrRBS® BIWINOD BaLS Bary HgurS |

(1) ¢ (2) e (3) s (4) 25,

pH value of aqueous NaCl solution is
NaCl ze@denn &g pH devs

(1) 1.7 | 2y 2 (3) 16 4) 7

The chemical formula of blue COIOUI'E:({{:?DPPQI‘ Sulphate crystal is
M Borh 55 HB)5 B0 Qny Brand Feoyer |
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